**Examination Fees as per Goa University** 

## T.Y. B. A. B.Ed, T.Y.B.Sc.B.Ed, Fourth Y. B.Sc.B.Ed &

### Fourth Y. B.A.B.Ed

Exam Registration Fees	Rs. 400
Ist Appearance Per Paper	Rs. 400
II <sup>nd</sup> Appearance per Paper	Rs. 670
Practical Exams Fees per Practical	Rs. 510
Statements of Marks	 Rs. 105
Exam Form	Rs. 80

#### Note:-

- 1. The online Exam form for the Semester End Examination October 2024 is to be filled from 19<sup>th</sup> August 2024 till 26<sup>th</sup> August 2024 (05:00 pm), link for filling exam form will be provided.
- 2. <u>Late Fee of Rs. 340/- will be applicable from 26<sup>th</sup> August 2024 (05:00 pm)</u> till 29<sup>th</sup> August 2024 (NO FURTHER EXTENTION) for filling exam form.
- 3. Examination Fees should be paid by the students to the college from 28<sup>th</sup> August 2024 to 03<sup>rd</sup> September 2024. On provided college account only.

(Mr. Hitesh Dessai) Convener

**University Examination** 



Harmal - Goa 403524

#### **Examination Fees**

#### Fourth .Y. B.Sc. B.Ed.

#### VII Semester

	VII Delilestei		
Exam Registration Fees		Rs. 400	
Ist Appearance Per Paper		Rs. 400	
Practical Exams Fees Per Practical		Rs. 510	
Statements of Marks		Rs. 105	
Exam Form		Rs. 80	
	<b>Maths Group</b>		
Exams Registration Fees		Rs. 400	
Ist Appearance Per Paper @Rs. 400/per	, 06 paper	Rs. 2400	
Statements of Marks	Wastin Proper	Rs. 105	
Exam Form		Rs. 80	_

#### Physics/Chemistry/Zoology/Botany Group

Rs. 2985

Exams Registration Fees	Rs. 400
Ist Appearance Per Paper @Rs. 400/per, 05 paper	Rs. 2000
Practical Exams Fees @ Rs.510/Per, 01 Practical	Rs. 510
Statements of Marks	Rs. 105
Exam Form	Rs. 80
	Rs. 3095

Gurs Hitash D

(Mr. Hitesh Dessai)
Convener
University Examination



Harmal - Goa 403524

#### **Examination Fees**

T.Y. B.Sc. B.Ed.

VSemester	r
-----------	---

Exam Registration Fees	Rs. 400
Ist Appearance Per Paper	Rs. 400
Practical Exams Fees Per Practical	Rs. 510
Statements of Marks	Rs. 105
Exam Form	Rs. 80

#### **Maths Group**

Exams Registration Fees	Rs. 400
Ist Appearance Per Paper @Rs. 400/per, 06 paper	Rs. 2400
Statements of Marks	Rs. 105
Exam Form	Rs. 80
	Rs. 2985

## Physics/Chemistry/Zoology/Botany Group

Exams Registration Fees	Rs. 400
Ist Appearance Per Paper @Rs. 400/per, 05 paper	Rs. 2000
Practical Exams Fees @ Rs. 510/Per, 01 Practical	Rs. 510
Statements of Marks	Rs. 105
Exam Form	Rs. 80
	Rs. 3095

(Mr. Hitesh Dessai) Convener University Examination



Harmal - Goa 403524

#### **Examination Fees**

#### T.Y. B. A. B.Ed. V Semester

Exam Registration Fees	Rs. 400
Ist Appearance Per Paper	Rs. 400
Statements of Marks	Rs. 105
Exam Form	Rs. 80

### Konkani/English/Hindi/ Marathi/History Group

Exams Registration Fees	Rs. 400
Ist Appearance Per Paper @Rs. 400/per, 06 paper	Rs. 2400
Statements of Marks	Rs. 105
Exam Form	Rs. 80
	Rs. 2985

#### Geography Group

Exams Registration Fees	Rs. 400
Ist Appearance Per Paper @Rs. 400/per, 05 paper	Rs. 2000
Practical Exams Fees @ 510/Per, 01 Practical	Rs. 510
Statements of Marks	Rs. 105
Exam Form	Rs. 80
	Rs. 3095

Mr. Hitesh Dessai Convener University Examination



Harmal - Goa 403524

#### **Examination Fees**

#### Fourth Y. B. A. B.Ed. VII Semester

Exam Registration Fees	Rs. 400
Ist Appearance Per Paper	Rs. 400
Statements of Marks	Rs. 105
Exam Form	Rs. 80

### Konkani/English/Hindi/ Marathi/History Group

Exams Registration Fees	Rs. 400
Ist Appearance Per Paper @Rs. 400/per, 06 paper	Rs. 2400
Statements of Marks	Rs. 105
Exam Form	Rs. 80
ANNUAL A CAME	Rs. 2985

#### Geography Group

Exams Registration Fees	Rs. 400
Ist Appearance Per Paper @Rs. 400/per, 05 paper	Rs. 2000
Practical Exams Fees @ 510/Per, 01 Practical	Rs. 510
Statements of Marks	Rs. 105
Exam Form	Rs. 85
	Rs. 3095

Mr. Hitesh Dessai Convener University Examination



Harmal - Goa 403524

#### **Examination Fees**

#### T .Y. B.Sc. B.Ed. VI Semester Repeat Examination

Exam Registration Fees	Rs. 400

IInd Appearance Per Paper

Practical Exams Fees Per Practical

Rs. 670 x No. of Paper

Rs. 510 x No. of Practical Paper

Statements of Marks
Exam Form
Rs. 105
Rs. 80

Mr. Hitesh Dessai Convenor - University Examination

